Each person going to the party will need all of the @
items in the box. Work out the cost of each item then S
multiply it by the number of children in your class to
find out how much you will need to spend.

2 sandwiches 1 bag of crisps 2 samosas 1 plate
4 drinks 2 cakes 2 sausage rolls 1 cup
Number of children in the class:
Food and Drink Cost Per Person | Total Quantity Total Cost

A.loaf of bread = 12 o 2 slices
slices per loaf
.1 Pottle of orange &1 20 4 cups
jutce = 10 cups
1 .pack of cheese = 10 o1 70 5 slices
slices
1 .pack of ham = 10 £1.60 6 slices
slices
1 ' =

pack of crisps = 6 85p 1 bag
bags
1 box = 12 cakes £1.15 2 cakes
1 pack = 12 samosas £1 2 samosas
1 pack = 20 sausage 2 sausage

£2
rolls rolls
1 pack = 25 plates 80p 1 plate
1 pack = 16 plastic £150 1 cup
cups
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